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The Cultural and Social Landscape in Focus

on of scripts

The following conventions will be used by examiners marking scripts:
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written in the margin to indicate information relevant to AO4 and derived from the Preliminary
Material.

written in the margin to indicate information relevant to AO4 derived from a source other than the
Preliminary Material.

written in the margin to indicate repetition of information relevant to AO4 or AO2.
written in the margin to indicate reaction/response relevant to AO2 when no justification is given.

written in the margin to indicate reaction/response relevant to AO2 where this includes
reason/justification of opinion.

and vertical line in the margin = irrelevant material

The marks for AO2, AO4 and AO3 respectively to be written at the foot of the answer accompanied, where
the examiner deems it necessary, by a word or phrase quoted from the criteria for assessment as published in
the specification.

The assessment objectives will be allocated in the following way.

% of A Level Marks
AO2 | Response to written language 2.5 5
AO3 | Knowledge of grammar 2.5 5
AO4 | Knowledge of society 10 20
TOTAL 15 30
The following criteria will be used.
Knowledge of Society (AO4)
16-20 Demonstrates thorough knowledge and understanding of the task using a wide range of
examples and evidence. The answer is fully relevant with a good depth of treatment.
11-15 Demonstrates sound overall knowledge and understanding of the task, using a good range of
examples and evidence. The answer is mostly relevant, treating the task in some depth.
6-10 Demonstrates some knowledge and understanding of the task. Examples and evidence are
mostly simple, but the answer is generally relevant.
1-5 Demonstrates only limited knowledge and understanding of the task. Limited range of
examples and evidence, often superficial.
0 The answer shows no relevance to the task set. A zero score will automatically result in a
zero score for the answer as a whole.
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Reaction/Response (AO2)

5 A good range of points evaluated with conclusions. Clear evidence of personal reaction,
well illustrated/justified. Well organised structure with clear progression.

4 Some attempt at evaluation with some personal reaction and conclusions but not always
convincingly illustrated/justified. Logical structure with some progression.
3 Some evaluation evident, but relies on received ideas with few conclusions and little
personal opinion. Some attempts at structure. Ideas generally not well supported.
2 Little relevant reaction/opinion/evaluation, generally factual or descriptive. Very poor
structure.
0-1 Little or no reaction. No real illustration or justification.

Knowledge of Grammar (AO3)

5 Very good command of the language. Good use of idiom, complex structures and a wide
range of vocabulary. Highly accurate grammar and sentence structure; only occasional
mistakes.

4 Good command of the language. Attempts to use complex constructions and a wide range
of vocabulary. Good grammar and sentence structure. Generally accurate.

3 A variety of linguistic structures used, generally effectively. Limitations in the use of more
complex structures and more sophisticated vocabulary. Grammatical errors rarely impede
comprehension.

2 Reasonable performance, tending to use unsophisticated constructions and vocabulary.
Grammatical errors generally do not impede comprehension.

0-1 Generally comprehensible to a native speaker. Limited range of constructions, vocabulary
and sentence patterns. Grammatical errors may significantly impede comprehension.




